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— POINT

FEOARKD
AR YARY

(x+a) (x+b) =x*+ (a+b)x+ab
A

- ab-

<51 >
(x+5) (x+7) =2+ G+T)x+5X7
=x"+12x+35

(x—2y) (x+3y) =2+ (—2y+3y) x+ (—2y) X3y
=x"+yXx+ (—6y?)

(2x+1) 2x+3) = (2x)°+ (1+3) X2x+1X3
=4x*+4X2x+3
=4x*+8x+3

(1) oKX Z R LRIV,

@ (x+3) (x+4) @ (x+6) (x—1)

@ (x+5y) (x+2y)

@ (3x—1) (3x+2)

| POINT

FZOoLHKQ FAHLRA
(x+a)*=x*+2ax+a
2XaXx
(x—a)’=x"—2ax+a’
2X (—a) Xx

< il >
(x+5)=x"+2X5Xx+ 5
=2+ 10x+25
(x—9)*=x"+2X (—9) Xx+ (—9)°*
=x*—18x+81
(20—3)*= (2x)*+2X (—3) X2x+ X (—3)*
=4x*—12x+9
(2) WOKXZERLZIWV,
O x+1)* @ (x—6)*
® (2x+5)? @ (3x—2y)*
POINT

ZFEZOLARQ — MEEDTE
(x+a) (x—a) =2"—a*

X 2= (2 F’) DZE

<51 >
(x+2) (x—2) =2*—2*=x*"—4
(x—6) (x+6) =2*—6°=x"—36
(x—3y) (x+3y) =2°— (—3y)*=2"—9y°
(2x+5y) (2x—5y) = (2x)*— (5y) *=4x*— 25y°
(3) OXEZREHALZRI W,

O (x+3) (x—3) @ (x+8) (x—8)

@ (x+4y) (x—4y)

@ (5x+9y) (5x—9y)
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< 5] >
(x+5) (x+7) =x*+ BG+7)x+5%X7

=x*+ 122+ 35

(xr—2y) (x+3y) =x*+ (—2y+3y)x+ (—2y) X3y

=r'+yXx+ (—6y?)
2x+1) 2x+3) = @Qx)*+ (1+3) X2xr+1X%X3

=4x*+4X2x+3
=4x*+8x+3

(1) ROKXZERHLZRIW,
O (x+3) (x+4)
=x*+7x+12

@ (x+5y) (x+2y)
=x*+7xy+ 10y

@ (x+6) (x—1)
=x*+5xr—6

@ (3x—1) (3x+2)
=9x*+3x—2

| POINT

FZOoLHKQ FAHLRA
(x+a)*=x*+2ax+a
2XaXx
(x—a)’=x"—2ax+a’

2X (—a) Xx

X X
73 ax
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< 51 >
(x+5)?=x’+2X5Xxr+5°
=2+ 10x+25
(x—9)*=x*+2X (—9) Xx+ (—9)°*
=x’—18x+381

2x—3)2=(2x)%+2X (—3) X2xr+ X (—3)?

=4x*—12x+9
(2) WoOAXZREB LRI,
O (x+1)2
=x*+2x+1

@ (2x+5)2
4x*+20x+ 25

@ (x—6)*?
=x*—12x+ 36

@ (3x—2y)*
=9x*—12xy+ 4y*

POINT
REOLHKQ — MEEDK

(x+a) (x—a) =2"—a*

X 2= (2 F’) DZE

< 5] >
(x+2) (x—2) =x"—2°=x"—4
(xr—6) (x+6)=x"—6"=2x"—36

(xr—3y) (x+3y) =x°— (—3y)*=x"—9y°
(2x+5y) (2x—5y) = (2x)*— (5y) *=4x*— 25y°

(3) oKX ZRERA LRI,
D (x+3) (x—3)
=x’—9

@ (x+4y) (x—4y)
xr*—16y°

@ (r+8) (x—28)
x’—64

@ (5x+9y) (5x—9y)
25x*—81y*




